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↓What is a qubit ?

* bit : 20
, 13 = two discrete values

How can we physically represent a bit ?
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#Law 1 If a "particle" can be in one of 2 basic states 10) or 11)

then it can also be in a superposition state , meaning

Il

& amplitude on 107
, B amplitude on 117

Il -ety complex
where a

, B are complex numbers satisfying 1912+ IBK= 1 I
simplest quantulan system with two degrees of freedomn
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Such a state is called a qubit

-
-

We can represent it by a vector (4) < unit vector since I/B =
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NEXT
You cannot read a quantum state , i. e ., access a , B directlyIEcure) Only way to extract information is via measurement-


